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YRA | 38 T arel feuw T st

HICTSHATTHR el 7Y R g 2
I R

II. 3Th=
. 3Rk Raetsh

IV. Seqatas

What is the correct chronological order
in which the following rulers ruled in
India ?

L. Sher Shah Suri

II.  Akbar

II.  Ala-ud-din Khilji

IV. Iltutmish

(A) IV,LULT (B) IV,ILLII
(C) LILULIV (D) HLIV,LII
=1 1 @ % 9 9q Ras & g 9 2
(A) FHEH (B) =T

(C) -mcd (D) =™

Which one of the following saints was
contemporary of Shivaji ?

(A) Tukaram

(B) Chaitanya

(C) Namdev

(D) Shankaracharya

TS o TIH T A hiF & 2

(A) WAEFaEa  (B) wiSandafEm
(C) wiefdaens (D) «rEfmm

Who was the first Governor-General of
Bengal ?

(A) Lord Clive

(B) Lord Warren Hastings
(C) Lord Lytton

(D) Lord Ripon

(A) T (B) ferfehean
(C) dregehet (D) T
Charakasambhita is a work on

(A) Polity (B) Medicine
(C) Architecture (D) Mathematics

BETA21

fAdasR o IR ad T8 g 2
(A) B.C.261 - wfnyg
(B) AD.78  — 3 Hadhi YEATT
(C) AD.622 - YWY IE

(D) AD.1709 — 3fiTsie &l gy

Which one of the following pairs is
incorrectly matched ?
(A) B.C.261 -

(B)
©

The Kalinga
War
Commencement
of Saka Era
Commencement
of the Muslim
Era

Death of
Aurangzeb

A.D.78 -

AD.622 -

(D)  A.D. 1709

3T © foh8 YA & “UTUg 37ieg B4 o A1
T ST ST 8 2

(A) <EWE TS (B)  gsey, ©f. Seff
(C) TRISRIE HEd (D) G SHsit
Who among the following is known as
the “Grand Old Man” of India ?

(A) Dadabhai Naoroji

(B) W.C. Bannerjee

(C) Pherozeshah Mehta
(D) Surendranath Bannerjee

T 1915-16 § forEeh A | @ 8W &

A YE TS ?

(A) T S8 3 AT faereh

(B) Taetes 3R «1eT Sretua T

(C) Taeres 3R fefomarg uret

(D) Taeres 3R 3rfe< =y

Two Home Rule Leagues were started in
1915-16 under the leadership of

(A) Annie Besant and Lokmanya Tilak
(B) Tilak and Lala Lajpat Roy

(C) Tilak and Bipin Chandra Pal
(D) Tilak and Aurobindo Ghosh
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8.

e = fHeT ot
a. & THT 1. T faeesrr=<
b. THEW feE 2. qEM wEE
c. IFIAE 3. [HHARAE
d. wogs 4. . sfiee
NEIE] RIEEY
5. iR gl
Match the following :
a. Brahmo 1. Swami
Samaj Vivekanand
b. Ramakrishna 2. Dayanand
Mission Saraswati
c. Arya Samaj 3. Ram Mohan
Roy
d. Satyashodhak 4. K. Sridharalu
Samaj Naidu
5. Jyotirao
Phule
a b c d
(A) 2 3 5 1
B) 3 1 2 4
) 3 1 2 5
(D) 3 2 1 5

Ll AT TR T AR Tohe T ?

(A) TER YA

(B) STETEETS 8%

(C) Y=g 9™

(D) w&TeHT meft

Who gave the slogan ‘Do or Die’ ?
(A) Sardar Patel

(B) Jawaharlal Nehru

(C) Subhash Chandra Bose
(D) Mahatma Gandhi

i 10.

11.

12.

13.

S GUTSES S8 A HRA™ TEE M
N UG W BT ¢ 1 39 ¢ 1 T
fopa femmm ¢

(A) SHETEET T8

(B) eIy Haman

(C) 3. gy

(D) .. U

When Subhash Chandra Bose resigned
from the Presidentship of Indian National
Congress, the seat was offered to

(A) Jawaharlal Nehru

(B) Pattabhi Sitaramaiah

(C) Dr. Rajendra Prasad
(D) J.B. Kripalani

AT Y- fersredt afaesn fera i e fa 2 ¢

(A) 3 (B) Tt

©) T (D) =™

The Salal hydro-electric project is
located across the river

(A) Jhelum (B) Ravi

(C) Chenab (D) Beas

el foge B R -

(A) 219=H (B) I8SH I

(C) 23T (D) 22 fewwr =i
Vernal Equinox takes place on

(A) 21°March

(B) 18" June

(C) 23" September

(D) 22" December

TR ¥ Tae! qieieH foheeh 3eamer
% feu ftrg 2 7

(A) ST (B) &I

(C) dis (D) TegmiEw
The ‘Khetri Project’ in Rajasthan is
famous for the production of

(A) Zinc (B) Steel

(C) Copper (D) Aluminium

BETA21
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14.

15.

16.

TSN TP 3a fea @

(A) TE I (B) /@m

(C) ufsamsmer (D) A

The Kaziranga National Park is situated
?JIX) Madhya Pradesh

(B) Assam

(C) West Bengal
(D) Kerala

Frafefea o @+ = fearerh 78 T H
afeatd 2

. Ed

II.

I S

V. TeEd

(A) 13RIl (B) II3MRIII

(C) MRV (D) L3RIV

Which of the following are rivers of the
Himalayan river system ?
I.  Kaveri

II. Ganga

III.  Brahmaputra

IV. Godavari

(A) TandII (B)
(C) HlandIV (D)

Sh A H AT R -

(A) HTEHRI gHI &t STH el SN

(B) 3Tgfad sl gRI &t A dTeft
TS T

(C) Sfeh T3t o @ Y X

(D) <% HF Sb g ot I et
TR S X

Bank rate means

(A) Interest rate
moneylenders
Interest  rate
scheduled banks
Rate of profit of banking institutions
Official rate of interest charged
by the Central bank of the country

II and III
Il and IV

charged by
(B)

©)
(D)

charged by

BETA21

i 17. ¢ 3T, 3775, Fehe SHINTHUTA I TT ¢ dl

—4-

18.

19.

TG TSt O T STECENTT 2
(A) IS 3TETE BT |
(B) € U |

(C) g |

(D) 9 | %I T

If RBI reduces the cash reserve ratio,
what will happen to the credit creation ?

(A) There will be no impact.
(B) It will decrease.

(C) It will increase.

(D) None of these

0 O fopm TR i sreiegaeen ° gEneHi
W foft PR 8d & 3R smlie
Tfafafert =1 ger Jeea oy AT wE
BATR ?

(A) e (B) HHTSHETE
(C) Tafda (D) dfvees

In which of the following type of
economies, resources are owned
privately and the main objective behind
economic activities is profit-making ?

(A) Capitalist (B) Socialist
(C) Mixed (D) Global

1 %9 1 AIE fohHeh G SENEINd BT § ?
(A) 3TR.&1.31E. o=

(B) WA o TgUfd

(C) foawsh

(D) foa afea

The One Hundred rupee note bears the
signature of :

(A) RBI Governor

(B) President of India

(C) Finance Minister

(D) Finance Secretary
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20. AT (FEMA) 1 0l &9 13 ?

21.

22,

What is the full form of FEMA ?
(A)
(B)

Funds Exchange Media Agency

Foreign Exchange Management
Act

Finance and Export Management
Association

©)

(D) Foreign Export Market Agency
I o A9 H S W@y Td W@osdl’
fope wmfireT 2 2

(A) TSHgAH

(B) EwHadi gl |

(C) TagAH

(D) ¥ & 1S Ta

The ‘Public Health and Sanitation’ is
included in Constitution of India in

(A) State List

(B) Concurrent List
(C) Union List

(D) None of these

TR T YT U] e 3o JTaid Wt
TR

(A) T 3fhR

(B) wiferes e

(C) T Hifa = Frewms a0

(D) TH @ 1S el

Panchayati Raj System in India is laid
down under

(A) Fundamental Rights

(B) Fundamental Duties

(C) Directive Principles of State Policy
(D) None of these

i 23.

24.

25.

26.

e =1 3rferepr wen Aiferes tfereew 7, S
for mafta @

(A) 3TITBC21AH

(B) 3=8¢ 199

(C) ITTWE29TI 308

(D) S A TE

Right to Education is a fundamental
right, which is related to :

(A) Article 21A

(B) Article 19

(C) Articles 29 and 30

(D) None of these

v o @ fome dfoum aw d Seeww
& T ?

(A) AT I8&

(B) TETeHT et

(C) 1.3TR. gt

(D) #i.w. Ta

Who among the following moved the
‘Objective  Resolution’ in  the
Constituent Assembly ?

(A) Jawaharlal Nehru

(B) Mahatma Gandhi

(C) B.R. Ambedkar
(D) B.N.Rao

YR dfaam % fem sgese A
ITeUTETh o fad ffga & 2

(A) 3T=®e2l (B) 31 24
(C) FTBE29 (D) TH O hig T

In which Article of Indian Constitution,
the interests of minorities are covered ?
(A) Article 21 (B) Article 24
(C) Article 29 (D) None of these

319 ITeloh | YT 918 8ld &
(A) SRH (B) =IgH
(C) HF SO (D) STHHBEE

Current carriers in solid conductors are

(A) Protons (B) Neutrons

(C) Free Electrons(D) None of these
BETA21
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27.

28.

29.

30.

31.

Tehre oY feorteh AT hI TS B 7

(A) T a9 | AT} 7S Tehe i i i
(B) ThaH el H e g aehi s ghi
(C) oo H Tl o STehreT g =it 75 G4 b1
(D) TATESIET I IfeT <l

Light year is a unit of measurement of

(A) Speed of Rocket measured in a year

(B) Distance travelled by sound in a
vacuum during one year

(C) Distance travelled by light in a

(D)

vacuum during one year
Speed of Aeroplane

ST qTarE T TERIeh A IE Wi g -

(A) hfewmm Tethe (CaSO,)

(B) hfcdsm TfiIaIIss (CaOCL,)

(C) difeam sgepTaie (NaHCO5)

(D) ®ifead FARTEE (NaCl)

The chemical name of Bleaching
powder is also
(A) Calcium sulphate (CaSO,)

(B) Calcium oxychloride (CaOCl,)
(C) Sodium bicarbonate (NaHCOj3)
(D) Sodium chloride (NaCl/)

18-ohic | § @ A 1 Jfeerd &

The percentage of pure gold in 18-carat
gold is

(A) 60% B) 75%

(C) 80% (D) 100%

HeR # wgarad H g g
A) fafimc B) fwfima
(C) ffmB (D) T AHE T

Orange contains abundance of
(A) VitaminC (B) Vitamin A
(C) VitaminB (D) None of these

.
196 56
(A) 18

(C) 324

(B) 14
(D) 212

BETA21

| 32,

33.

34.

35.

885x885x885+115x115x115 _
885x885+115x115-885x115

(A) 115 (B) 770
(C) 885 (D) 1000
J5-43 _
maﬁw%.
%is equal to :

+
(A) 4+415  (B) 4-415
©) % (D) 1

A, T A 30% T T 3ThT forshi
20% 9G TS | GHTGR i T T IEHT HT
ERICR N

(A) 10% S@l (B) 10% &t

(C) 16% st (D) 16% =t

On decreasing the price of T.V. sets by
30%, its sale is increased by 20%. What

is the effect on the revenue received by
the shopkeeper ?

(A) 10% increase (B)
(C) 16% increase (D)

10% decrease
16% decrease

IR Reenfeai 1 3MTd 30 18.5 a9 7 | 3R
%I i 30 i 3TH I < ST a1 37Ed
3 20% ¢ STt 8, A HEHIIT 2 :

(A) 2899 (B) 3199

(C) 348 (D) 37§

The average age of four players is 18.5
years. If the age of the coach is also

included, the average age increases by
20%. The age of the coach is :

(A) 28 years (B) 31 years
(C) 34 years (D) 37 years
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36. ‘Tehel o T vee &
(A) wga (B) W
(C) IS (D)  3¥hetl
37. ‘T HIUFEEEI B ?
(A) fawwr (B) 3TEHKR
(C) = (D) TETREE
38. ‘O ! & arel’ a9t & fore = fou o
Tohed © | Teh wT6g T :
(A) wHi=h (B) IR
(C) HeHH (D) Hewt
39, TR § GER 9T gErer i 31 ferfau |
(A) TIEl Sl T LT
(B) IS 5igd e
(C) wgd ST
(D) 8 ST
40. & a1 1 = HIRT |
(A) TEcashiem  (B) HIEcATehIal
(C) TEamhiel (D) WETThIan

Directions : Read the passage carefully and
answer the corresponding questions : (41-43)

Nehru’s was a many-sided personality. He
enjoyed reading and writing books as much as
he enjoyed fighting political and social evils or
resisting tyranny. In him the scientist and the
humanist were held in perfect balance. While
he kept looking at social problems from a
scientific standpoint, he never forgot that we
should nourish the total man. As a scientist, he
refused to believe, in a benevolent power
interested in men’s affairs; but, as a self-
proclaimed non-believer, he loved affirming
his faith in life and the beauty of nature.
Children he adored. Unlike Wordsworth, he
did not see them trailing clouds of glory from
their recent sojourn in heaven. He saw them as
blossoms of promise and renewal, the only
hope for mankind.

A

i 41.

42.

43.

44.

45.

46.

A many-sided personality means

(A) acomplex personality

(B) asecretive personality

(C) aperson having varied interests
(D) acapable person.

Pt. Nehru enjoyed

(A) reading and writing books.

(B) fighting political and social evils.
(C) resisting tyranny.

(D) doing all these and much more.

Which of the following statements
reflects Pt. Nehru’s point of view ?

(A) Humanism is more important than
Science.

(B) Science is supreme and Humanism
is subordinate to it.

(C) Science and Humanism are equally
important.

(D) There is no common ground

between Science and Humanism.

Give Synonym for the following :
Famous

(A) Awful
(C) Popular

(B) Poor
(D) Steady

Give Antonym for the following :

Transparent
(A) Obvious (B) Limpid
(C) Opaque (D) Clear

fqu U fomhedl H © HEfUq w1eg 1 W=
SHifeT

gefifersr : wefl - et ;2

(A) T (B) T

(C) AHa (D) TITERo

Select the related word from the given
alternatives :

Ornithologist : Birds :: Anthropologist : ?
(A) Plants (B) Animals

(C) Mankind (D) Environment

BETA21
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47.

48.

49.

50.

3G 3168 1 TIH T ST Hg % STeh! IIeqi
T A &l T |

(A) <& (B) HHEH

(C) @« (D) TR

Choose the word which is least like the
other words in the group.

(A) Curd (B) Butter

(C) oil (D) Cheese

frel Tafve@ e § PRODUCTIONS i
QQPCVEUHPMT foran 5man 2 | 35t e
T ORIENTATION fore Sehr feran s 7
In a certain code, PRODUCTIONS is

written as QQPCVEUHPMT. How is
ORIENTATION written in that code ?

(A) PQIJDOVBSINO
(B) PQJDOUBUIJPO
(C) PSIFOVBSINO
(D) NSHFMVBSJINO

{a <Al 3R 390 hid g¢ HRae = e, <d
ITeh! | o qA I shallal 97 § |17 T,
Tifae @ fpe TR Tala @ ?

(A) 31 (B) Htsit

(©) = (D) ==l &
Pointing towards Rita, Nikhil said, “I am

the only son of her mother’s son.” How
is Rita related to Nikhil ?

(A) Aunt (B) Niece
(C) Mother (D) Cousin

e fopeft o o 25 37T I TEAR 7, T IR
HEH H HHaR 1§ 8
If the 25" of August in a year is

Thursday, the number of Mondays in
that month is

(A) 3
© 5

(B) 4
(D) 6

BETA21

' 51,

52.

53.

54.

71 5 & Topg &t H TS 189 TAISHT
&1 foraTaee el g3 8 2

(A) IR (B) A

(€) =% (D) v

In which of the following cities Light
House Project is not implemented ?

(A) Agartala (B) Ranchi

(C) Chennai (D) Patna

I T AT QU= ko feredt <hl wi=rell
TEY A SIS | 2

(A) Tema-fasn (B)  wrd e
(C) Imsfea (D) SIE®HE
Which Indian telecom company is
world’s fifth strongest brand ?

(A) Reliance-Jio (B) Bharti Airtel
(C) Idea (D) Vodafone

sl (BOLD — Bamboo Oasis on Lands
in Drought) TRETSHT &7 €1 H WA < fohd
T 1§ 36 61 78 2

(A) T (B) g

(€) fomm (D) e SeH

The Project BOLD (Bamboo Oasis on
Lands in Drought) was recently launched
from which state in India ?

(A) Rajasthan

(B) Haryana

(C) Bihar

(D) Madhya Pradesh

GIH Y < Bl (COVAX) JISHT
AT HIfTS-19 H R I TH ATt
AT QA B AT 2

(A) =T (B) HTeSfifean

(C)  3TshIehT (D) HsH

Which is first country to get free COVID-
19 vaccines through the COVAX scheme
of United Nations ?

(A) Ghana
(C) Africa

(B) Nigeria
(D) Sudan
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5S.

56.

57.

58.

s § S ach Rl oo g
3erdiehY mfger srafemm & & 2

(A) TrfwsTeen (B) 9 ST

(C) Tg=slg™ (D) heud AEdl
Who is the second Indian born American
woman astronaut to fly to space ?

(A) Sirisha Bandla (B) Shreya Badla
(C) Ritu Karidhal (D) Kalpana Chawla

36 WA TgeaH o1 T o 8, R R Ee &

T I o6 foTu < 9ret hl Sderer o TR 2
(A) ImweRed  (B) gfa mfers
() TMafdz (D) v FAR

Name the Indian wrestler, who gets two-
year ban for doping recently.

(A) Yogeshwar Dutt

(B) Sumit Malik

(C) Ravinder Singh

(D) Pawan Kumar

A T I8 i °T YT T &, & Wg-
T-TUE §-hiee TuTTeft TR <l TR 7 2

(A) Smuem  (B) fedreet e
(C) T3m (D) i@

Which State in India is first state to
implement an end to end e-Cabinet System ?
(A) Uttar Pradesh

(B) Himachal Pradesh

(C) Goa

(D) Haryana

fopa IR =o' & § 2019-
2020 % fotu 3. €h.3718.wH.3.+ (UDISE+)
& feran T 2

(A) WF T (B) e weme™
(C) fmmem (D) & HAeH
Which Indian ministry recently launched
UDISE+ for 2019-20207?

(A) Ministry of Health

(B) Ministry of Education

(C) Ministry of Finance
(D) Ministry of Home Affairs

i 59.

60.

61.

62.

wWewH famfar e 3 forg forehe Rgad
I U1 ST TrarEet e ot 2

(A) TrRe=wEd®t (B) w.wE. g
(C) s3ra 3t (D) TR gam
Smartphone maker ‘Vivo’ appointed
which cricketer as its brand ambassador?
(A) Virat Kohli

(B) M.S. Dhoni

(C) Ishant Sharma
(D) Shikhar Dhawan

RIS seferid (Al) 3meniia e
“SUPACE” WIid # fore =mamerd & foiw
& Teram R 2

A) oot 3= =me

(B) TSIA 3= 1A

(C) Tat= T

(D) 9 | %I T

Artificial Intelligence (AI) based portal
‘SUPACE’ launched for which court in
India ?

(A) Delhi High Court

(B) Gujarat High Court

(C) Supreme Court
(D) None of these

fopa vy U= Aute 9 Hi|n 9ren s
297

(A) U= (B) =R

(C) dH D) @

How many Indian States share their
boundary with Nepal ?

(A) Five (B) Four

(C) Three (D) Two

e 1 9§ it e h Tt B E R 2
(A) &S (B) @M

(C) feoett (D) @Rl

Which of the following is the capital of
Costa Rica ?
(A) Beijing
(C) Delhi

(B) SanJose
(D) Dhaka
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63.

64.

65.

66.

BETA21

SR YR ALGIT hl TS AT
faAa=wne?

(A) dfta (B) woETe™

(€) Fesigart (D) fagam

Which among the following is the

official language of Union Territory of
Lakshadweep ?

(A)
(B)
©)
(D)

Tamil

Malayalam

Great Andamanese
Sinhala

YT o HGYT % ITTHR Sl 991 < HEel
<Y 3Tfrehaq T R R 2

As per Constitution of India, what is the
maximum  strength  (number  of
members) of the Lok Sabha ?

(A) 530 (B) 540
(C) 550 (D) 552

T&=t feae e T A1 B 2

(A) TR 14  (B) 3@

(C) Taa2 (D) 3T 3

When is ‘Hindi Diwas’ celebrated ?

(A) September 14 (B) October 1
(C) November2 (D) October3

0 T HIF 91 ¢ 9Th (SAARC) &1 G
EEE

(A) 9

(C) STHITEH

Which of the following countries is not a
member of SAARC ?

(A) Nepal (B) Bangladesh
(C) Afghanistan (D) Myanmar

(B) eIIey

(D) MR

' 67.

69.

~-10-

68.

70.

= 4 9 form wR W Iar-Ta i
e ferd & 7

(A) ST B) fewett

(C) 3fTETe (D) &S

In which of the following places Ajanta-
Ellora caves are situated ?

(A) Bengaluru  (B) Delhi
(C) Aurangabad (D) Lucknow

ST forT WA TS /<hg3mid TSt hl
TTehfeh 304 & 2

(A) 3EH (B) &

(C) dferTg (D) HAeH

Onam is the cultural festival of which
Indian State/ UT ?

(A) Assam (B) Kerala

(C) Tamil Nadu (D) Karnataka

frafafad & & &9 @ 78 o ¥ g9
ERCER I

(A) g (B) =g

(C) = (D) g4

Which of the following planets is closest
to the Sun ?

(A) Earth (B) Moon

(C) Mars (D) Mercury
TS JEERR STicH et T2 TR & & 2
(A) ST (B) TSa e

(C) TR S (D)  HeT @
Who was the first Asian Winner of
Nobel Prize ?

(A) C.V.Raman

(B) Rajiv Gandhi

(C) Rabindranath Tagore

(D) Mother Teresa
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Tcer . freforRaa e bt ey ufew qen 34
T 3NTRE FET (71-75) % SR AT -

TAA | G ! Taviferep1ati ol Ig1-da1 h
foTe T o 6 for mefiSh 3 fova w1 sifEEn
&t 31 WgH foham | TiefiSft skt hd A o I
3R 3Tfean & g fowd o FHoR ¥ FHoR &ed i
of} ST ST ST TRl B | 3R 39 gl B
dveror ot feran 3RS “Fraa’ wher firg BT | &
& T sredt 2, gom’, gom 1 5 It B 3R
© I 1 Ifilg Bt 8 | 1 ¥g ffeaa 2 f
form I 3 stféen < fova o wnfa wenfia i &
gehdl | IM=T < A9E | THE SIfd 1 foep

FEE T | ST WY 1 WO It har o |

], e I8l gt wife 3R g@ T &1 a1 Sauray
T i bt SITd &1 | Hife g & =R
3R iy <6t 3afe off wrifoeprer § & v gt 2,
31d: g1 Afg Tawa o1 shoamot A8 & a1 g4 Ig
STEShR BT &1 BT | JAfEdT ST SH <l Wia1 |
Terear # wnif=a wenfua e 2ft, qeft foe & gama
T ST T ShT AT TS g |

71, Tova & wnfe = Smavas B 7
(A) HE T o fereprd o forg
(B) SHIIH TEHTcHS H1d o foTT
(C) SR 3R FHMN i 34 & foTQ

(D) 3R U H3R &d ! Y et a1
= fag

i 72.

73.

74.

75.

Terga wnifa b &gt & fou 9e@ smavaes
H

(A) Tean it
(B) feHn AR IH
(C)  SATeHrIaT 3R Figar
(D) uftem 3R I

HAX U H3R BT bl H hiHA g91=7 S
HehdT &

(A) T e gl
(B) M YT gRT
(C) feaT g
(D) wIGH

fereft oft Ty < -3 & Y@ aw &
(A) &9 3R Avg

(B) o 3R T

(C) 3ATEATeH TR SUTAT

(D) M=, @ 3T THATCHS B

“fraT=a’ 3Teg 1 ITYH T B
(A) wefdifd

B) foerpa

(C) faferaq

(D) =

BETA21
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fdwr ;. fr=feriga e 1 samgdes dfew qen 34
T 3MTRA ¥ (76-80) 3 T AT -

ORI 31191 o AHa-Sfed 1 AfT9T=T T
g 37 99 T ? | TFa-Siad 1 B8 ot &
fersrt o 3r3fagd srfershril & aregan 7 w1 | 3t
T sy I famm &1 I Fgar 7 | A
fomm 3 gy 3R T, anfecrsr 3t i,
et 3R e, Yefufa 3 sfien, fafeas
3 &fe, Al ot e aen ey 3R
Tt @i 1 3R |t &= | fopeft 7 forelt &9 4
39 ST T | TG fohaT B | 3T T
afarst foqmme 81w 2 | fors <6 =on ievf <6
ISR & ARt SS1-9l T 9l el 3R
3gTferentat o &1 gfora 78 B, Ied o T 31
S shi IS ! ATeeht STae # off Tiasiia
2 | T T srae ame 6 qed o v
IR | 36k I H T Yo 3R SIIUSTd
1 Rrfor 7 gem 2 | T & 31w @ 98 at

ShTC <61 GfHstt ST TSt 1 Tt W
78, firva 3 REREd T T YTE HRY R

HUTHI 8 | 376 T8 /A3 b JehId H HATHIT
e T T R | T 9 39 sented R 2,
ISTAT 3T St &t ®, 5o gurent fehdll ot i
! TFIH L i dTehd W € 7 | FHSH o fafay
1Y 39 A9 @ | AT UF G o d19E1
ferhrer & T 31 Torm Y <t sgd wm & T E
3R T fova weh aiER-|1 & &0 § | i
HIT I o & H IcqTeH <hl <fiel gfig & o B
TS RN e § T oH-aT | wEE |
fen ot fafheen & & § fogm & @
A<t 2 | T % T & ogsa ot 3R
TG o 3T (@ SO hich 318 NE
WA T o3l LG & | FamH, fos = 93 i
difger foshm@ S foparm @ 3R dsfeh fo=ia-
gfa & & | Smte fam-ugfa & ags
FrfavaTdl 3TR &fe -TaUsti 8 Ih gt w8
Td HfeTd & § | - foram sht Hehd & 3T e

BETA21

| USRI S1aF i Tehdl & | 399 TS o T4 i

M o Srefavarar, yAaqut 7 gferarrt fommd,
W 3 3T O g freht B | fmm A am e
T 2 | 9T i =Tfe fop ag fosm <t ga g
T I TS BT H G e |

76. o aa <t Ted o) wife safere wE
TS 8 AT 9 o1 & AT
(A) Toga e wremig |
(B) STohfer 37 FTfrSTTe ot RRAR 2 |
(C) Tt viifees glaensti a o= 2 |
(D) IA<NET % &7 U eEald HL Hhal & |

77. et faH-vgla I agsT &1 e ae
3R 7g ferarm & fob 3@ gies firefi 2
(A) T=gferd Jfa=<H &
(B) YUt Rt aftu=miemanst &
(C)  yorgui sl ferermon &
(D) ST=H ERehideh TSt 8

(A) ITATTT Ud TR A8 T faehrd
(B) fasm & nfasfier st
(C) Tomm i St @ afgar
(D) Toea--Ycd shi WIaAT o foehrd

79. ‘TS g O 1N B
(A) 3THTE Y R ST
(B) UTE H W@ 3Tdt i TE
(C) &l & foru stfae i aig
(D) T8 3N I ST

80. AmTieh-To=aa Yoy W T B
(A) TR fomaa
(B) wraTeHe fa=H
(C) amrient gr fomarm o faeam
(D) %Y Ud Hferd form

-12- A
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féw (81-85) : e feu 7w uTH W amenfi@ € |
T31 % I E |
Directions (81-85) : The questions are based

on the below shown graph. Answer these
questions.

T H Teh T&T § 7 B! o 3i081™ 3R I

3feh! T ITFITA ST TATR |

The graph shows the ratio of marks of History
to Geography of 7 students in an examination.

1.6
1.5
1.4
13
1.2
1.1
1
0.9
0.8
E')O]
0.6
0.5
0.4
03
02
0.1

1.55

(Ratio)

1 2 3 4 5 o6 7
B (Student)

81, fore) BT ¥ sprier 1 avdan efer #
37eh 3Tfid fopm 2
How many students got more marks in
History than in Geography ?
(A) 2 B) 3
< 4 D) 5

82. fr= # @ fopd Bl 1 e B Iman
3foreTE A 37 fiet 2
Which of the following students got less
marks in History than in Geography ?
(A) 1,3,5,6 B) 1,2,3,6
(C) 1,4,5,7 (D) 4,5,7

| 83, I H B 3 ¥ 4 % A 3o h! Tiawd

§GA R -

Percentage increase of marks in
Geography from student 3 to 4 is —

(A) 15

(B) 20

() 90

(D) 3ATehg 3ATH/ Insufficient data

84. sfoem/ya % stfusan g 3R
[IAH TIUTA T T 7

The difference of the maximum ratio and
minimum ratio of History/Geography is
(A) 045 (B) 0.50
(C) 0.9 (D) 1.20
85. B 4 H YA H 60 3 el | 35k
Sfaem™ o 37 &
Student 4 got 60 marks in Geography.
His marks in History are —
(A) 48
(B) 68
© 75
(D) T8 ¥ 1g &1/ None of these
few (86-90) : TTH T I K F=feARaq
I3l o I T
Directions (86-90) : Study the graph and
answer the following questions :

THod A T IeUTeA Hifgeh e |
g0+ Production of Raw wool in Metric Tonnes
76
754 %
70+ 68
65 /
65¢ p

55¢

7
60+ é
/

50

2013-14 RN L
2
15-16 N
2020-21 NI 3

2014-15

2018-19 RN 54

2017-18
019-20

N

86. T Il oh IcATC H SATH g 1 Y AT :

The maximum rise in the production of
raw wool was in the year :

(A) 2017-18 (B) 2020-21
(C) 2016-17 (D) 2019-20
BETA21
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87. U IR Al o IcuTed i o H arfam ¢ fdw (91-95) ¢ @ ME arfereR % smEm W

IR T § e I I SATEH % | TkTRad Sl % 3T T
EERIEIN Directions (91-95) : Read the following table
Durine the last . h ducti and answer the questions given below it.
uring the last four years the production +o e NS 5
of raw wool increased by % on = El
the production of the first four years. Yearly Commission Earned by Five
Salesmen
(A) 2638 (B) 222 a8 | 2015 2016] 2017 2018] 2019 2020
(C) 19.8 (D) 25.0 (Year)
Sl
88. 3773 TNI oh G 3TEd JcdTeH o Salesman)
. . . A 27350| 28500| 25200| 29,800| 24,600 27,000
The average production during the eight B 26850] 27.900] 27400] 28000 28.500] 29,000
years was : C 26200 27,800 28200| 29,100 29.400| 30,000
D 27,850| 30,040 29,800 30,060 29,800| 32,000
(A) 67.2MT E 28640 29,000 28,750 30,000 29,750| 29,700
(B) 62.5MT ANT (Total) | 1,36,890| 1,43,240 | 1,39,350 | 1,46,960 | 1,42,050 | 1,47,700
(C) 50.0 MT 91. Topm o o Aegia C g 31fia fieH fuset
(D) 52.8 MT T & g § ST gfg gutar g ¢

In which year commission earned by the
salesman C showed the highest increase

89. 3Icdted H fUset a9 &t qorn | stfepan | that of the preceding year ?
yferera Tred form o & 7 (A) 2016 (B) 2017
(C) 2018 (D) 2019
The maximum percentage decrease of ! 5 N
production over the previous year was in 92. 9 2018 ¥ B wr k2
the year : 36t 99 o PoT HHE BT AT feha
(A) 2018-19 (B) 2017-18 STfcrd o 7

In the year 2018 the commission of B
was approximately what percent of the
total commission earned by all salesmen
in that year ?

(C) 2013-14 (D) 2014-15

90. 2014-15 ® %h=d I T IcdTeH 2019-20

(A) 19.05
JdTG =Bl a1 | (B) 98
The production of raw wool in 2014-15 (©) 80 P .
was of the production in (D) 7 ¥ I3 21/ None of these
2019-20. 93. forg THEA T 2018 § HHlEM, 2015 i
n L ® 2 T | I=aH ghg guiar s 2
3 3 Which salesman’s commission in 2018 show
1 3 the highest increase over that in 2015 ?
© 5 (D) 2 (A) A (B) B
(© D D) C
BETA21 - 14 - A
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94.

9s.

e o & form A o FoRet oft Sicwi gRT 3T |

A IR YT HHITH hT TR SR 8 ?
In which of the following year was the
difference between the highest and
lowest commission earned by any
salesman maximum ?

(A) 2017 (B) 2018

(C) 2019 (D) 2020

T4 2019 H GegH D §RI AR HHRH
A g AN wHeHE 1 @ e
fcrerd & 2

In the year 2019, commission earned by
salesman D was approximately what

96.

97.

percent of commission earned by A ?

(A)
(B)
©)

(D) T8 ¥ 1 T2l /None of these
&1 (96-100) : & 778 rfetent /ATl 1 e

18
21
52

ST i 9T = feu gedi & W e

Directions (96-100) : Study the table and

answer the questions given below :

farfirer wit o wR SRR SRt O g @l A
ge (Jwel )

Number of accounts opened (in hundreds)

98.

99.

in four Share broker in various months
IRR
s/ | WS/ |SE/ e/ |/ |feaw/
Share May|June| July | Aug. | Sept.
Broker
TS/ 25 | 28 35 65 55
Angel 100.
G/ 22 | 18 32 30 45
Sharekhan
ST/ 30 | 45 50 35 40
Zerodha
Egg’a / 35 | 42 45 50 60
Tradebull
A -15-

frerferfaa § & fra oy § g @ 6
T 6t 3fed TEdn B 7

(A) ST (B) faqww

(C) I (D) #3

In which of the following months is the

average of the number of opened
accounts the maximum ?

(A) June (B) September
(C) August (D) May
T H Gl @l <hl & S H Gol @i <hl

AT H TR feha ScrTd s o1 ey off ?
The number of accounts opened in Aug.
is approximately what per cent more or
less than the number of accounts opened
in June ?

(A) 335 (B) 353

(C) 346 (D) 40

TS T Fcrer deh Uatet H ot Wi <hl S &
SIS 8 et Wl <hl HE&1 31 3TIT 17 ?
What is the ratio of the number of

accounts opened in Angel to that opened
in Zerodha from May to September ?

(A) 1.5 (B) 0.75

(C) 225 (D) 1.04

forer SRR ST & e @l i 3iEa He
HEAu g 7

(A) T (B) I@H

(C) d=5d (D) I

In which Share broker is the average
number of accounts opened the maximum ?
(A) Angel (B) Sharekhan
(C) Tradebull (D) Zerodha

S T Gl Wl hl T <1 31Ed IEH
H gol WAl hl T&AT 6 1Ed T qTHT
Tera wfcrera w1 IR AT 7

The average number of accounts opened
in Tradebull is approximate what per cent
more or less than the average number of
accounts opened in Sharekhan ?

(A) 57.82 (B) 60

(C) 45.90 (D) 50.69
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